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ECONOMICS
( Major )

Paper : 5.6

( Development Policy and the Indian Economy )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks

for the questions

Answer either in English or in Assamese

1. Answer the following questions :
T firal eppTRy Teq for

(a) What was the literacy rate of India

(b)

(c)

(d)

(e)
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according to 2011 Census?

1x7=7

0YY B9 (FFPEe WC© SRe] e[ 37

fea ifeet 2

Define per capita income.
YR SRR Sigee fia |

What is density of population?
GAPIST ¥org 3 2

What is relative poverty?

e wfkuer & 9

What is meant by Green Revolution?

cies Red gferca 5 g 2
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(2)

(/) Mention one cause of industrial
unemployment in India.

ST ST R B I3 Seay 41 |
(g9 What is microenterprise?
Hu Sl 62
2. Answer the following questions : 2x4=8
©eTS fral hPRd Ted for

(a) What is birthrate? What was the
birthrate of India according to 2011

Census?
o W@ 52 X035y 59 @R

e (O SR
&1 T9 W ik 2 ¥

(b) Mention two causes
unemployment in India.

RARKISHIEIECE R R CER T —

(c) Mention two objecti
jectives
& Tadia. of Land Reforms

quwﬁmmﬂ?ﬂl

(d) Write down two
A proble
industries of India. ms faced by large

of disguised

SRR T SR T 51 Sy o |
3. Answer any three of the following questions :
e firg e
TP R @ R g foran
(@) Explain briefly f i ‘
e rr):y. Ve basic features of
SO RT  siy [SikE M
AT #4971 i

( Continued )

(b)

(©

()

(e)

(3)

Suggest five measures for reducing
rural unemployment in India.

TAeq A PREET ZPRAE AT SfehT S
IR |

Explain the role of agriculture in India’s
economic development.

SRY SAoT TeEee $RY Pl 0y 1 |

.Explain the measures taken by

Government to ensure food security in
India.

SRS I I [P0 FRAA 59 22 [
JREFTR T 1 |

What were the main objectives of
Industrial Policy of 1991? Explain.

355 B9 8o ST efuE Sew TR
IR 2 L 40

4. Answer any three of the following questions :

10x3=30

e fr eppTRd R el feofbr Ted e

(@)
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Discuss the trend of growth of tertiary
sector of India during the plan period.
What are the main causes of increasing
importance of the tertiary sector? 6+4=10

ARFFAE FECRES SIS Gl 99 I 41
DA 91 | CRT 87 TR 9FgI A4
IRPR & & 2
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(4)

(b) Discuss the causes of slow growth of per
capita income of India during plan
period. 10

mewwwﬁwm
I TR e 59 |

(c) Discuss the causes of inequality of
income in India. Suggest some
measures to improve the situation. 6+4=10

ST SR SPHON IRCZ TG 1 |
ﬂﬁﬁﬁsﬁw%ﬂﬁﬁw%%@mwwwmn

(d) What are the major barriers to
agricultural growth in India? Discuss. 10
SIRSY R I 24 14PTgR R R 2 wicens
<41 :

(e) Discuss the role of industrialization in
the economic development of 4
developing economy like India. 10

SO TS TR WS s e
SIS SN SR SO 4 |

() Give a critical appraisal of the industrial
development Strategy of India in the

pre-reform period. 10
ARTTPR IT©  TReT S e
R G PHICTSTET JoT SseeoR |
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